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//The velocity of an object can be changed by

et @ 1 a7 v SR a=er S wepar
%
(A) Changing the speed
(e & uiad= @)
(B) Changing the direction of motion
(i it Rar # wiadF)

(C) Changing both the speed and direction

of motion
T 2w o TWT A aiadH )
V{,Dﬂ%ll (a), (b) and (c) are true
/y]/n case of a moving body
afgefe a=q £ Rafa &
(A) Distance > Displacement
(771> feare)
(B) Distance <Displacement
(st < P
Distance >Displacement
(7t > faearem)
(D) Distance < Displacement
(F < Faearm)

J{boy is standing in front of a plane mirror .

at a distance of 5 m from it. What is the
distance  between the boy and his
image?

4

T WX EET 31 A X IEAT i & AT B
Thar 3?

(A)Sm
(B)2.5m

10 m
(D) none of these

/When a ray of light falls on an object, it
may be :

S yaTer A Ao e aeg W s g, A 3

3 et 2 2

(A) Absorbed (srasmitam)

(B) Transmitted (3f¥d)

(C) Reflected (qRTafl)
YAl of them

“Light travels from a rarer to a denser
medium it will have.

THEIA U {50t A1eqW & oo wTeA i

(A) Increased velocity (37 ¥ g7)
(B) Decreased velocity (37 & FHT)
(C) Decreased wavelength
(R T2 § oY)
o1 Both (b) and (¢) @t () i ()
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A
\/b'f You are given three media A, B and C of
refractive index 1.33, 1.65 and 1.46. The

medium in which the light will travel fastest
1S

SITRT ATaAHTF 1,33, 1.65 07 1,46 F A
HR A, B o ¢ B v ) 7 werm

St sor sy A e 1 ey wo

A
(B) B
©)C
(D) Equal in A,B & C

\_)./When we insert a coin to a glass half filled

with water then coin appears as raised
slightly which is due to?
ST 20 GTAT & avr iy e F o g

(A) Reflection (TRTdd)
\Wraction (AT
(C) Dispersion (ﬁm
(D) Scattering (Q?ﬁnfuﬁ)

” Which of the following statements
regarding melting point and freezing point
of a substance is true?

Fft azrd F i o Bwis F Ay &
frafafad & 7 219 a1 @ua 7o 29

(A) Melting point of a substance is more
than its freezing point.

(T T=27d 7 T ey R A
AT 21T 2)

(B) Melting point of a substance is less
than its freezing point.

(Pt wr &7 e 70 i i
FH FTAT 2)

Melting point and freezing point of a
substance are same numerically.
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/9. Ice is floating on water in a beaker when ice

AT =T A AT 21 )
(D) None of these.
& A I TN

completely melts then level of water in
beaker:
e e & ey e T e 7T 8 o
o a7 orer S & A v B oA
CTRRG ‘

(A) Increases (ag SITdT %) g

\(Bf Decreases (A€ Sl &)

(C) Remains the same (FH
First increases then d

(T2 75T § f5z W

Mich of the followiri

affect the rate of evaporati
frafafas & @27
TSTETT A T AT o
s ;
\yﬁepth of liquid ( T%= X Mg7rs)
(B) Humidity of surrounding air
(3madTe it gar i 73
(C) Temperature of liquid
(AT T TR

(D) Surface of liquid @Wﬁ’ﬂ'ﬂg)

I. During summer water kept in earthen pot
becomes cool because of the phenomena —

Uiy = & Y 3 2w & T o R

(A) Diffusion (YHTX)

(B) Transpiration (FToqTee)

(C) Osmosis (=)
\_}D)’Evaporation (@refiFom)
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*\@. Which of the following phenomena of Jé,/Which component of blood transports,
stes in

light are involved in the
rainbow?

e & ferfor 3§ warer i Frferfa
e T wear errfier vy 292

carbon dioxide, and nitrogenous W

dissolved form? ¢
aidl ol N 1 g DT BEAFIES

oz igelarrdd raf2rg @ gferd =

formation of a

5 e A P 1} Tt e 82
cfraction, dispersion and tota A 3
» _ A) RBC (Ar7ATHT)
internal reflection (AT, [d&UUr & W A ( (o)
. asma (“ITs
ol wirafeas wiad) C) Platelets (P
') Platelets (F1771%
(B) Refraction, dispersion and internal g W113C ﬁ?f})
reflection (AT, ¥l Td ST AT 45 s .

GRIGcH)

(C) Dispersion, scattering and total
internal reflection (QPRLIUL Tt AT

ol e URTdd)

(D) Reflection, refraction and dispersion

(T, ATAdA i fao) R Y 22

“Which of the following non-metal is

liquid? i
e & & w #Y Aoy a7 82 (srTer 7 T S TR )
(C) Dispersion of light (7T FT
(A) Oxygen (ATFRITH) Reflection of light from the
(B) lodine (ATATETA) (AT 3 SrTOr AT ORIGRA)
(C) Hydrogen (3T2E19) o :
e ~ Inert that G
\/(JJ(B:'omine e ) Mr ia is that property ofa&,ﬁ,
of which the body is :
m -ﬁ;ﬁ' ﬁ-ﬂ% i 1
. Alloys are homogeneous mixtures of a p ﬁ_gﬂﬁw%
metal with a metal or non-metal. Which ] : ; fins
among the following alloys contain non- (A) Unable to change by itself the state
metal as one of its constituents? rest R
fersyr fopeft erTey 4 it wrg AT aremq = (R A Pafy @1 v 7w &
a1 AT fror 2 31 fraferfea §a 5
ey ForaygT & UF A2 & =T H d41g qTH)
oryfirer £9 (B) Unable to change by itself the state of
uniform motion
(A) Amalgam (THATH) S 5 1
4) Steel (F17) (R T Rt 1wt e
(C) Bronze (F7e7) 3 arererd)
(D) Brass (fra=T)
3|Page

contributes significantly to the reddish
appearance of the sun at sunrise or sunset?
Frafrfe § & 7 =Y ST gared

XG. Which of the following phenomena

(A) Scattering of light (TSI T 9=
(B) Total internal reflection of light

g
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(C) Unable to change by itself the direction
of motion
(A A Rom amar O sy
\/\Dﬁlnnhlc to change by itself the state of
rest and of uniform linear motion
(1w Ay Burfa siv Yo ofa
L LAECER L p o))

‘)&"f\/man is at rest in the middle of a pond on
perfectly smooth ice. He can get himself to
the shore by making use of Newton's
9T HITH FTTET RN AR A & g @
(A) First law (7gaT [4am)

(B) Second law (3777 )

_NeT Third law (frareT Fam)

wy All the laws (T fu)
“In which of the following cases the net force

is not zero?
et 7§ & e faf3 # ga e 7 82
(A) A kite skillfully held stationary in the

sky
(T AT FAdT T AT H a7 At
=9

\)K)A ball freely falling from a height
(AT 7 T = | FAt 72 07 7)
(C) An aeroplane rising upward at an angle
of 45° with the horizontal with a
constant speed

("% ZATE TET F 27wl F A
afasr & 45° & T 77 Ty Y 7 Az
2T )

(D) A cork floating on the surface of water

(At Y AAE T AT g v i)

(=

arket, Bhopal N i 2

Q.O.”ﬂnnn is climbing a staircase. The energy

he uses does not depends upon :
g et fvfr T AE 7T ¥ 7z fo o
i et AT & g gar 7r fnde el wa
S
(A) The height of the staircase

(A fr F=d)
(B) The weight of his body {

T ¢TI AT )

The time taken to reach the top

(ofif o7 g | T HHA)
(D) The mass of his body
(8 91T AT FAWT)
%olcnlial energy of your body is minimum
when :
A orfte A1 i s e A g
EEN

(A) You are standing (37T @3 %)

Mou lie down on floor (21T ek 7% #4)

(C) You are sitting on chair

(o it T A7 )
(D) Sitting on the ground (IHT= 9% Z4T)
W@i(alional force is a:
TECATRIT a & :

(A) Short range force (FH 3T FT )
VLB’)/Long range force (FAT FE %7 777)
(C) Medium range force (7 ¥ %7 7)

(D) Does not depend on distance between

the two bodies (2T =TT 7 = € g
a7 AT 77T A 8)

4|Pape
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J’/The balloon Stops rising up beyond

a
particular height when the density of gas
inside the balloon:

T USI Ub R Far @ g 381 da

RARUIITE ol F e S p——
5.

[ e

(A) exceeds the density of air outside
(ATRT 2T ¥ T ¥ afdrw 3)
equals the density of air
(3T % 777 ¥ a7 2)
(C) becomes less than the density of air
(AT % & T FH 2 AT D)
(D) none of the above
(ITTF | & A7 78Y)
\/24./The cells are joined in parallel to get the
maximum current when:
ATAFAH 4TI ITH F7 & (o Tiorrat Fr
AT § AT AT § 54
(A) External resistance is very large as

compared to the total internal

resistance
(F AT TR 1 oA 7 argfr
‘:IIEP..\ %I’]g ;‘F’T%)

\/LB'ﬁr:ternal resistance is very large as

compared to the external resistance

4
.7
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@Eh afdda £ qerar § b
ufaTry ag 7 3y
(C) Internal  resistance and  external

resistance are equal
(it afti de amEh i
ATTAT F)
(D) EMF of each cell is very large
(TR Bt 7 ST A5 a%T )

25. A cell, an ammeter and a voltmeter are all

connected in series. The ammeter reads a
current | and the voltmeter a potential
difference V. If a torch bulb is connected

across the voltmeter, then.

e g g 1 v | & o

Arezrtzy f[quaieR v wzar 21 af2 o =i

(A) Both I'and V will increase (I 3T V =T

(B) Both 1 and V' will decrease (I 4T V
AT T '

(C) I will increase but V will decrease (1 32
ST SR V9 ATe)

\)D’){will decrease but V will increase (1

T T3 V JT)
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26. What is Hallmarking?

7 /
27. Where can a common person get information on hallmarking?

mﬁmmmaﬁwamwgq
Tren

28. Ifa gold ornament has gold of 20 carats then what is the purity % of the gold used in the ornament?

uﬁw@ﬁ%wwﬁzoéﬁzwm%aﬁsﬂwﬂmﬁaﬁ % T2
MoA™ ook LAY tarak o oG " 5

A0 0: 853 X IBD = £2:2 /e

1
S

______ , l

29. Aluminium is used for making cooking utensils. Which of the properties of aluminium are
responsible for the same?

TR BT IURT W1 U & S & 3 e o | w3 o1 @ qor s
fore IR 82
T A &AMMMAMM _____ _eonduelon 1] beak
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Yeen present in the environment is converted to ozone?
CRISEN Ul gufary M1 ﬁ(i([;q W ST Y ol W ufeafde w faur s
LDznine M PO o Jdas.
STV A
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